FIN 51-RETIREMENT PLANNING AND INVESTING

LECTURE #1 - WHY BE CONCERNED WITH RETIREMENT PLANNING?

READING: “Ernst & Young’s Retirement Planning Guide,” pages xi (introduction) to 18.
I.
Why be concerned with planning for retirement? Two major reasons are:

1. The viability of the Social Security system is questionable. 

a. When Social Security first began paying benefits, the life expectancy of the average man was 63 years. Now it is 72 years. People are living longer.

b. The “baby-boom” generation is far larger in number than the generations succeeding it. Given that Social Security is a “pay-as-you go” system, how can the current benefit level be sustained when the baby-boomers retire?

c. The Social Security tax was 1% on both employee and employer when Social Security started. It is now 6.2% on both employee and employer. This tax is in addition to income taxes and other taxes. Is the Social Security system broken? Can it be fixed?

d. Even if current benefit levels are maintained, the average person receives approximately $16,800 per year from Social Security. Does this provide for a comfortable retirement?
2. Fewer companies are offering defined benefit pension plans.

a. In a defined benefit pension plan, the company guarantees its employees a pension. The pension amount is calculated using a formula, usually based on number of years worked and compensation levels. It is up to the employer to adequately fund and manage the pension plan investments. The employer bears the “investment risk” of funds contributed to the pension plan.

b. Most companies now offer defined contribution pension plans. The most common example is the 401(k) plan. In this type of plan, the employee is responsible for contributing to the plan. The employer may match some of the employee’s contributions. The employee must decide how to invest the amounts contributed. So, the employee bears the investment risk.

II.
What are the biggest obstacles to retirement planning, and how can we overcome those obstacles?
1. Inflation (increases in the cost of goods and services).

2. Taxes.

3. Procrastination.

4. How we can overcome these obstacles:

a. Save on a systematic, regular basis—i.e., through payroll deduction.

b. Diversify your investments between stocks, bonds, and cash (more on that later in the course).

c. Use tax-deferred savings plans such as 401(k) and Individual Retirement Accounts (more on that later in the course).

III.
Why are inflation and taxes obstacles to saving for retirement? Let’s demonstrate using the Rule of 72.
1. Assume an investment can earn 8% per year. The rule of 72 indicates it will take 9 years to “double our money.” This can be calculated by: 72 ÷ 8 = 9 years.

2. Now factor in an inflation rate of 2% per year. This means our investment is really only earning 6% per year, after inflation—8% less 2% inflation. The rule of 72 tells us it will take 12 years for our money to double. (72 ÷ 6 = 12.)

3. Additionally, let’s assume we invested in a taxable account, and that our earnings are subject to a 25% tax. Now how long will it take for our investment to double, after inflation and after taxes? Eighteen years, calculated as follows:

Return on investment, before tax and inflation
 8%

Less: inflation rate




(2)

Less: tax rate (25% * 8% = 2% for taxes)

(2)
Return on investment, after taxes and inflation 
4%
72 ÷ 4 = 18 years

a. This illustrates how inflation and taxes rob us of our wealth. As we will discuss later in the course, investing in a tax-deferred retirement account, such as a 401(k) or IRA, will allow investments to grow without tax until they are withdrawn. 

IV. What are the three most important types of financial investments available? (Much more on this later in the course.)
1. Cash and Cash Equivalents. These include savings accounts and certificate of deposits at banks; money market funds at banks, brokerage firms and credit unions; and short-term U.S. Treasury bills. 

2. Bonds. These are loans to corporations and governmental entities. These have yielded, in the past, 2 to 3% more than the inflation rate. Bonds, with the exception of U.S. federal government bonds, carry the risk of default.

3. Stocks. These represent a share of ownership in companies. They have, historically, generated returns of 6 to 7% above the rate of inflation.
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